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PARTT : (# 50 %)
1. — 3B AR A (x,) = (0,0) 4 BV KV, ~ AR 054 -

0 - » X
(1) #airh@sRzpmer2X » ERBX0) ~ @) - (BREEFZK) (10%)

(2) &V, =1133m/sec ~ 6=60" » RERFBEZ yE > RERFEREEIAFES - (5%)

2. 8%am=m=1~K =K,=2-

(1) i dmain ezl (10%)
(2) KB aB%EEGAFE - (5%)
(3) BEE BB A0)=A,0)=1&4TF + £AQ) ~ A *(5%)

(157 #£2H]



S 4 ABEEAa BCERELD » MAB - BCARAME  WAGEEERBACEE -

(15%)

A 4
=

PARTII : (# 50 4)
1. BBy & Rt (scalar) ? (5 %) FPELYEE R R E(vector) 7 (5 %)
2. #—JERE [K] AT
K K | |
K] :( i 12 | =
K, K,, -1 1
(a) R AR R BRE(S %) BRI &S %) »

(b) AJFEHK] H9S B (nverse matrix) - F{A(why) ? 5%)
3, 3k f(t) B9 Fourier #RBUEBHG %) HH

&) = cos(9¢ - %), <t <m f@t)=f+2m)
HoRHY f(t) AUEEL Fourier MBBGRERH(S %) MIMREME HIMER{R? %)

o0

4. KM F(s)=L(f)= je fHdt, BEREH f(t)=L“(F(s))=$ j F(s)e"ds
2 f@O=¢sin(r) B Fs)=7? (%)

= F(sy=1/(s-3) Bl f(t)=7? (5%)
~ Hint:
- FHEE - FHDLEf@)=F(s-a)
¥ FRBEE -8B > L{f-au(t~a)j=e"F(s)
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